AVLTIPLCACION
Tablas del 1 al 9

Ix 3= Uxd = 7xd=
2X6= D¥0= 8xT=
§reds= 6xl= 9x9 =
9x 3= 6 x5 = Ixd=
IxX6 = SOx0= 2xT=
1x2= Ux = Ix9 =
Ix9 = dxl= T8 =
2X3= 5x5= Ex6=
B0~ 6x2= 9x3=
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Tablas del 6, % 8, 9 410
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9x6 = TxB=
1xl= I0x9-= dx3=
SXy= 6x0= 9x 10 =
I0x 3= Ix6 = 6x0=
6xU= gdx & = 1%5=
7x 10 = I0x & = Ex7T=
9x[_|= 3l Tk | |[=7 10 x
0x [ |=20 x| | =2 6x
6x| |=2d gx | |=uS 7 x




|51 x 30 =

234 x 10 =

567 x 10 =

12 x 20 =

732 x 40 =

ﬁﬂ‘% 811 x 50 =

3.567 x 100 =

9.897 x 1.000 =

123 x 200

211 x 600

32 x 700 =

811 x 800




